Rcv Ultra High Pressure Valve Assembly

Research Control® | ReCo® Valves

Type HP-60 (60,000 psi)

DESCRIPTION e ~N

The HP-60 is an ultra high pressure control valve using a 17-4 PH
body along with a solid Stellite® innervalve assembly. The HP-60
can be used for both flow control as well as a Class IV shutoff valve.
The versatility of the HP-60 creates a singular solution for your high
pressure applications.

APPLICATION

The HP-60 valve is used in industrial applications, research and
process pilot plants on liquids and gases. The main use is in
high-pressure chemical injection, which is used in the production
of high-pressure low density polyethylene (HPLDPE).

STANDARD FEATURES
- Wide range of interchangeable trims
- Choice of linear or quick opening trims

« ANSI Class lll shutoff for sizes P-1 through P-6 \_ ,
- ANSI Class IV shutoff for sizes K through O
. Solid Stellite innervalve Shown with optional stainless steel actuator
- 9/16in. high-pressure cone and collar fittings (F562C)
e , d MATERIALS
« Pressure rating of 60,000 psi (4136.85 bar) at 100° F (37.78° C)
« Maximum upstream pressure is 60,000 psi (4136.85 bar) Body 17-4 PH
- Maximum downstream pressure is 47,150 psi (3250.88 bar) Innervalve Stellite 6B (plug and seat) :
(for higher downstream pressure, consult the factory) Packing Standard is glass-filled PTFE/PFA CV rings
or Torlon®/PFA CV rings
OPTIONAL FEATURES Actuator Painted carb(?n steel, nickel plated carbon
steel, and stainless steel
«  Stainless steel actuator and hardware for
explosion-proof requirements ACTUATOR CHOICES
Standard A!r-to-open, fa.ll close
Air-to-close, fail open
Effective Area 35 square inches
Standard Signals 3-15#, 3-27#, 6-30#, 22-45#*
Optional Signals With positioner, 3-9#, 9-15#
Accessories Filter regulator, gauges, I/P, limit switches,
handwheel on standard unit, solenoids

*Positioner Required

Badger Meter

®

RCV-DS-00573-EN-05 (May 2021) Product Data Sheet




Dimensions

DIMENSIONS
9.81
O (249.2)
2— 8 4 45 —9 48 49 47
5 7
17 V
14—\ | /
15 =
16 30
17 6
31 46
26
21
18///
44 20/
19 1 / —
23—/:tf]l ,
2 1
29_// | r
13— [;L
37 :
34—
38— ‘
v . £ —+1 A7
0.6)
= "~ 'Q
I 41~ ! 56 l
D 1 40J/\ l\/ (14'2)
|
U-BOLT, 3/8 in.-16 _/
THREAD, FOR 3in. 42 387)
oD, 2-1/2 in. PIPE
(BY USER) o 3.00
/ (76.2)
2X F562C CONNECTIONS

60,000 PSI, 2 PORTS

Page 2

RCV-DS-00573-EN-05

May 2021



Parts and Materials List

PARTS AND MATERIALS LIST TRIM CHART
Quantities are for one unit only. . Orifice Dia. Orifice Area
] ] Trim Size Max. Cv (in.) (sq. in.)
Item Description Material Number Qty m 0.08 0.1000 0.0079
1 Yoke Steel 527588-0001 1 T 0'05 0'1 000 0'0079
2 Spring case Steel 526041-0001 1 K 0'03 0.0860 0.0058
3 Pressure case Steel 526042-0001 1 : : :
4 Spring 17-7 SST 510031-0149 6 I\I;l 88? 88228 888;2
5 Diaphragm Buna-N 512698-0002 1 N 0 606 0.0860 0.0058
6 Retainer diaph. Steel 512883-0001 1 : : :
7 Stem 316/316L SST 527448-0001 1 o 0.003 0.0860 0.0058
8 Piston Aluminum 512882-0001 1 P-1 0.002 0.0625 0.0031
9 Screw 5/16-24 Steel 400013-0085 1 P-2 0.0013 0.0625 0.0031
10 Nut, travel stop 300 Series SST 527628-0001 1 i 0.001 0.0625 0.0031
1 Stem connector 17-4 PH SST 527589-0001 1 P-4 0.0006 0.0625 0.0031
12 Travel indicator Nylon 512879-0003 1 EZ 00600000247 gggg gggzl
13 Connector 10-32 316/316L SST 520391 1 : : : :
14 Screw 5/16-18 300 Series SST 400013-0002 | 10|  Special order
15 Lock washer 300 Series SST 430004-0021 12
16 Nut 5/16-18 300 Series SST 410001-0060 | 10| VALVE RATING
17 Washer 5/16 300 Series SST 430002-0107 | 24
18 Upper bushing Nylatron 512880-0001 1 Temp Pressure
19 Lower bushing Polymer 460019-0001 | 1 °F(°Q) psi (bar)
20 O-Ring ELF Nitrile 490018-0003 | 1 100 (37.78) 60,000 (4136.85)
21 Gasket Carbon/Nitrile 512712-0001 | 1 200 (93.33) 60,000 (4136.85)
22 Travel scale Aluminum 527233-0004 1 300 (148.89) 60,000 (4136.85)
23 Set screw 300 Series SST 400006-0056 1 400 (204.44) 58,290 (4018.95)
24 Nameplate 300 Series SST 512923-0001 1 500 (260.00) 57,202 (3943.94)
25 Vent plug Plastic 526037-0001 1 600 (315.56) 56,269 (3879.61)
26 Screw 1/4-20 STL/Fluro 526119-0002 | 6 650 (343.33) 55,803 (3847.48)
27 Nut 5/16-24 300 Series SST 410001-0058 1
28 Screw 6-32 300 Series SST 400001-0013 2
29 Nut 10-32 300 Series SST 410011 1
30 Washer thrust Steel 527432-0001 1
31 Lock washer 1/4 300 Series SST 430004-0014 6
32 Caution decal Mylar 512717-0001 1
33 Decal Vinyl/Mylar 512914-0002 1
34 Packing set GF PTFE/ PFA 541859 1
or34 Packing set Torlon / PFA 544489-0001 1
35 Packing gland 300 Series SST 522622-0003 1
36 Body & bonnet 17-4 PH SST 529048-0001 1
37 Yoke lock nut 316/316L SST 526328-0001 1
38 Adaptor 17-4 PH SST 523185-0003 1
39 Follower 17-4 PH SST 522774-0003 1
40 Adaptor lock Brass 522569 1
41 Set screw 300 Series SST 400006-0045 1
42 Lower adaptor 17-4 PH SST 522694-0003 1
43a Innervalve Stellite 6B — 1
43b Seat Stellite 6B — 1
44 Grease — 500458-0025 | —
45 Spring Spacer PVC 537624-0002 1
46 Spacer 300 Series SST 528911-0001 1
47 Screw 300 Series SST 400013-0088 2
48 Nut 18-8 SST 410001-0072 2
49 Cap Vinyl 501658-0001 1
May 2021 RCV-DS-00573-EN-05 Page 3



Ultra High Pressure Valve Assembly, Type HP-60 (60,000 psi)

Control. Manage. Optimize.

Research Control is a registered trademark of Badger Meter, Inc. Other trademarks appearing in this document are the property of their respective entities. Due to continuous
research, product improvements and enhancements, Badger Meter reserves the right to change product or system specifications without notice, except to the extent an
outstanding contractual obligation exists. © 2021 Badger Meter, Inc. All rights reserved.

www.badgermeter.com





